Accelerated Precalculus



Name______________________

   Conics Practice




Period _____Date ____________

1.  Find the circumference of the circle given by the equation:  4x2 + 4y2 = 64.

     x2 + y2 = 16, so r = 4 and C = 8π
2.  Given the ellipse given by the equation:  9x2 + 4y2 = 36, find its y-intercepts. If x = 0, 4y2 = 36 so 
      y = ±3
3.  Find the length of the minor axis of:  
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 2b = 2(2) = 4
4.  Find the equations of the asymptotes of:  
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 y – 3 = ±(1/2)(x + 1)
5.  Find the distance between the focus and the directrix of the parabola determined by:

                 (y + 4)2 = (8(x + 2)  .4p = 8, so p = 2 and Focus to directrix = 2p = 4.
6.  What type of graph is defined by the equation:  4x2 – 4y2 + 5x – 16 = 0  Should be hyperbola.   

    Check : 4(x2 + 5/4x + 25/64) -4y2 = 16 + 25/16 ≠0, so it is a hyperbola.
7.  What is the standard form of the equation of the circle which has (2, 4) and (-6,10) as the 


      endpoints of its diameter?  (x + 2)2 + (y – 7)2 = 25
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8.  The system of equations:       x2 ( y 2 = 25     has how many solutions?




                  x(y = 12  Sketch each graph and there are 4 points of intersection.
9. Rewrite the following equation in standard form and identify what type of conic it is.

8x2 ( 2y2 + 16x + 8y + 64 = 0  4x2 – y2 + 8x + 4y + 32 = 0 ( 4(x2 + 2x + 1) –(y2 – 4y + 4) = 

-64+4-4 = 64, so (x + 1)2/16 – (y – 2)2/64 = 1  hyperbola
10.  Rewrite the following equation in standard form and identify what type of conic it is.

 3y2 + 6x – 12y – 11 = 0  3(y2 – 4y + 4) = -6x + 11 + 12( 3(y – 2)2 = -6(x – 23/6) parabola
11.  Consider the conic determined by the equation:  
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A) What are the coordinates of the center?___(5, -2)__________

B) What are the endpoints of the major axis? __(5, 4)______,____(5, -8)_______

C) What are the coordinates of the foci? c = 4  __(5, 2)_________, ____(5, -6)________

D) What is it’s eccentricity?_c/a = 4/6 = 2/3____________

12. Consider the conic determined by the equation:  
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A) What are the coordinates of the center? __(-4, 3)__________

B) What are the endpoints of the conjugate axis? ____(-4, 8)____, ______(-4,-2)______
C) What are the endpoints of the transverse axis? ___
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 ________

D) What are the coordinates of the foci? ___(-4, 10)________, ____(-4, -4)_______

E) What is it’s eccentricity?___c/a =7/5__________

13. Solve the system of equations:     3x2 – 4y2 = 11             algebraically.  Add to get 6x2 + 12x = 90
3x2 + 4y2 + 12x = 79    which means    x2 + 2x – 15 = 0 
      So x = -5 or x = 3, meaning, if x = -5, 3(25) – 4y2  = 11 ( 75 – 11 = 4y2 = 64 ( y = ±4.  And if x = 3, 3(9) - 4y2 = 11 ( -4y2 = 11 – 27 = -16, so y = ± 2. Therefore there are 4 points of intersection (-5, 4), (-5, -4), (3,2) and (3, -2).
14. Write the conics in problems #13 in standard form.  Then sketch graphs of the above conics to verify your answer to problem number 13.
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   for the second one, get   3(x2 + 4x + 4) + 4y2 = 79 + 12 = 91 (    
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The graph confirms the answer.
15. Solve the following system of  equations:    y =  (2x2 + 8x + 27

    2x + y = 15

15 – 2x = -2x2 + 8x + 27 ( 2x2 – 10x – 12 = 0 ( x2 – 5x – 6 = (x – 6)(x + 1) = 0 ( x = 6 or x = -1.
If x = 6, then y = 3 and if x = -1, y = 17.   Therefore answers are (6, 3) and (-1, 17).
16. Write the equation of the ellipse with foci at (3, 7) and (9, 7) if the minor axis is 4 units long.
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17. Write the equation of the set of points (x,y) that is twice as far from (4,0) as it is from ((2,0).
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(x-4)+y=2(x+2)+y(x-4)+y=4((x+2)+y)

x-8x+16+y=4x+16x+16+4y3x+3y+24x=0

x+y+8x=0x+(y-4)=16
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18. Write the set of points (x,y) that is equidistant from the point (2, (3) and the line x = 6.

-8(x – 4)2 = (y + 3)2
_1012939252.unknown

_1597230227.unknown

_1597234879.unknown

_1597235272.unknown

_1597233111.unknown

_1597229238.unknown

_982965562.unknown

_982965796.unknown

_982963871.unknown

